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ADVANCED COMPUTER NETWORKS
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There are THREE sections in the paper A, B and C.

Q9 € 5 5T GG 1 % G 10 97T % I AT | IF 47T T 3% 1 8 0
@t 10 s TG TFR F T F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

D & 3 8 g 7 @ 81 6 TvHT & I U | GedE N 3 b F 2 @
377 5 FIET / 50 Y&l 4 I G |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

a7 @ 5 6 TvA § @ AT 4 59 & IR G | Gedd Fv7 8 e 1 8 T
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Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

v GF & G 5 1 FHER 0 G198 HH |
Solve all the questions of a section consecutively together.
21 T3 7 i 813 %1 R A s s 8 A4 8 |

Only English version is valid in case of difference in both the languages.

JHH - T

Section — A

# 11 ve g ot wE A v A 2 7
(a) 172.30.255.255 (b) 10.210.220.254

(c)

172.16.21.240 (d) 172.32.250.254

Which one in not a valid private IP address ?
(a) 172.30.255.255 (b) 10.210.220.254

!'."? (¢) 172.16.21.240 (d) 172.32.250.254
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(i) U IPv4 qa forzm %1 wan 2, o fafim 3nd ft amif & anfiepa forr mn 2

(a) 256 (b) 128
() 16 d 32
An IPv4 address is bits address, which is categorized into different IP
classes.
(a) 256 (b) 128
(c) 16 (d 32
(iii) TRt % wy dile 2fifve giafie $6 ¥g &1 I9F1 HLT 2 |
(a) FDMA (b) FLST
(c) CDMA (d) TDMA
With star topology the VSAT terminal transmits using :
(a) FDMA (b) FLST
(c) CDMA (d) TDMA
(iv) arzdeq AR Y& Tl 2 |
(a) Simplex ~ (b) Half duplex
(¢)  Full duplex (d) 379858 TE
WIMAX provides communication.
(a) Simplex (b) -Half duplex
(¢)  Full duplex (d) None of the above
(v) SMI H dareqd '3 .

(a)  Solution of management information
(b)  Structure of management information
(¢) Slots of management information

(d) Sites of management information
SMI stands for

(a)  Solution of management information
(b)  Structure of management information
(c) Slots of management information

(d) Sites of management information

(vi) At @ 6w ) TRt @1 s ATy SwE T R

(a) SSL, tunneling (b) IPSec, SSL
(c) IPSec, tunneling (d) 399 & 18 TE
VPN uses which two simultaneous techniques ?
(a) SSL, tunneling (b) IPSec, SSL
(c) IPSec, tunneling (d) None of the above
(vii) SRR qa-ft i1 U Haw T IwE, ga TSy 1 R & for et B, Ferdi 2 -
(a) MDA (b) Hashing
(¢)  Steganography (d) 7 8 HrE 74
The encryption technique that uses one message to hide another message is called :
(a) MDA (b) Hashing

(c) Steganography (d) None of the above
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(a) Simul (b)) TCL
(¢) NS, (d) C++
Which is an example of network simulator ?
(a) Simul (b) TCL
(c) NS, (d) C++
(ix) AR FETHU6d  fmwmsEmfEnammz) .
(a) 64 (b) 32
(c) 128 (d) 256
bits are used in version 6 of [P address.
(a) 64 (b) 32
(c) 128 (d) 256
(x) P i@ e o fag el esTE R ¢
(a) SSL (b) HTTP
(c) HDLC (d) 3w |t
Which of the following is the bit oriented protocol ?
(a) SSL (b) HTTP
(¢c) HDLC (d) All of the above
daeE — &t
Section - B
3UTE & 18 1 o fafd |
Write any three benefits of subnetting.
3. IPv4 T [Pv6 H #iE dF s fafe |
Write any three differences between IPv4 and IPv6.
o frt 1 g o afvfyd &)
Define frame relay in short.
5. eads fre-dd %t samE i |
Explain network redundancy.
6. ead g & i 4 e fafae |
Write any three advantages of network security.
7. Azadh ot ) SavEEsd Hi 2 7

Why network simulator is needed ?
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drée Tar 4 aefagy smem 6 smen &+ |

Explain bandwidth reservation is VSAT Communication. (3)

wH Tt 6 srive %1 989 § gagmEu |

Explain working of frame relay in short. 3)
B - i
Section - C

HedlehTee T Wieiehicll o faearyes Tz |

Explain Multicast Routing Protocols in detail. (8)

Fi#e gan #1 8 7 R UG A arqeel S GRATET |

What is VSAT Communication ? Explain Star and Mesh architectures. (8)
e At F 1 21 2 7 S ) srguren w1 framgds amsm |
What are Load balancers ? Explain the concept of caching in detail. (8)

e foft Sead 6t sraumon F1 3wy IeEwl F g ofonfya w ) g e
Aeddh & WHHI 6 AT H |

Define the concept of virtual private networks with suitable example. Explain the
types of virtual private networks. (8)

31 ot v &b R R 7 3 ft vd & fafir @it siv Afor o st @t |

What is IP address schema ? Discuss the different classes and ranges of IP address.  (8)

o d & fopedll Q w wifew feoaoft ford

Write short notes on any twe of the following :

(a) Multicasting

(b) MPLS

(¢c) RMON (8)




